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Q1 The capacity of cut A shown on the network is
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Q2 The maximum flow through the network from source to sink would be:
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Q3 The digraph below shows the flow capacity for pipes in a watering system.The maximum flow from the source to the sink is
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Q1 The following matrix is to be reduced so that a minimum allocation can be made using the Hungarian algorithm.
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Log(income)
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Boulevard's market share will
increase by approximately 3.5%.

Boulevard’s market share will
decrease by approximately 7%.
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Kahoo‘t! 047 Transition Matrices
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Members of a weekly gym club can choose to do Aerobics (A),
Ballet (B) or Cycling (C). The transition diagram below shows the
movement between the activities from week to week:

Atransition matrix that could also represent this situation




image100.png
this week
4 B c
0.56 034 0.12] 4
0.51 026 0.23| B next week
0.12 034 054| C

this week
4 B c
051 056 0.12| 4
026 032 034| B next week
023 0.12 054] C




image101.png
B .~ i ——
this week

4 B (¢}
0.56 0.51 0.12] 4
032 026 034| B next week
0.12 023 054 C

this week

A4 B c
0.56 0.23 0.54| 4
0.12 026 0.12| B next week
0.32 0.51 0.54| C





image102.png
Half of the customers who go to Edge this time will go to either Flavours or Good

Life next time
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The same number of people will change each time from Edge to Flavours as will
change from Flavours to Edge





image104.png
In a shopping centre there are three coffee shops, Edge (E),
Flavours (F) and Good Life (G). A number of customers are
surveyed and it is found the customers change between the
coffee shops according to the transition matrix below:

this time
E F G
05 03 02| E
03 0.1 04| F nexttime
02 06 04| G
Which of the following statements is true?
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In the long run Edge will have
the most customers
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Each time half of Flavours’
‘ customers will change to Good
Life
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A graph is shown below of the logarithm of annual income for a number of small companies
of various sizes.

The percentage of companies in this sample with an annual income less than $1 000 000 is
closest to:

Choose only ONE best answer.

O 91%
O 76%
O a1%
O 35%
O 9%
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If the sales values are rounded to the nearest whole number,
after how many weeks will The Bugle have identical sales with
The Clarion?
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I a country town there are two weekly newspapers that the residents can purchase - The Bugle (8) and The
Claion 0

0
The Bugehas i e s spnding money 10 pomote e, hy bl s e ransiion
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e 3]
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The Clarion management was very slow to respond to the
promotional activities by

The Bugle. The Clariorrs revamp and promotional activity got
underway after 10 weeks, and they believed that the new
transition matrix, T, would be

T 0.96 0.03 | B
n
0.04 097 | C
Given the intervention by The Clarion, what would be the sales of

each paper after 15 weeks, rounded to the nearest whole
number?
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The laundry-products manager in a local supermarket has noticed that the shoppers are not loyal towards.
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Kahoo‘t! 049 Transition Matrices with a change
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Consider the matrix relation below:

07 02 0.1 100
A

02 03 05 300

The matrix 4, in this relationship would be

1407

HxA,+B where H=|0.1 05 04|, B=200|and 4,=|1651

1742
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Kahoot! 053 Graphs Euler Hamiltor
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The map below shows the road connections between three
towns A, Band C.

A

¢
The graph that could be used to model the connections is
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A table listing the ten major producers of Uranium in the world, and their production in
thousands of tonnes in 2016, is shown below:

The number of outliers in this data is:

Choose only ONE best answer.
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A network is shown below:

e ()

Anumber of statements, both correct and incorrect, have been
made about this network:

Thereis a loop at vertex H.

There are three regions in this network.
The network s a simple network.

DEis a bridge in the network.

The degree of vertex His three.

The number of correct statements i
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Kahooﬂ 055 Maximum Flow Minimum Spanning Trees
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Country Production.
Austrahia 63
Canada 140
China 16
Kazakbetan 26
Namibia 37
Niger 35
Russia 30
Ukraine 10
United States 11
Uzbekistan 24
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057 Critical Paths Analysis
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The activity network below gives the time, in hours, for activities in a project.The latest starting
time for activity F is:

O 8hours

O 10 hours

O 12hours

O 13 hours

O 14hours
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Which of the following would create a new critical path?

(O Reducing A by three hours
O Increasing | by one hour
(O Reducing C by one hour
O Increasing B by three hours

(O Reducing E by three hours
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An activity network is shown below, with durations of each activity in days:
The float time of activity D is:
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Kahooﬂ 059 Allocation and Hungarian Algorithm
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The reduced matrix that would be ready for allocation is:
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The heights of boys in an Under-12 soccer competition are approximately normally distributed
with a mean 153 cm and a standard deviation of 7 cm.

Fawad and Vinh both play in the soccer competition.
Fawad is 140 cm tall, and Vinh is 165 cm tall.
Which of the following statements is true?

Choose only ONE best answer.
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Amanufacturing procedure has four processes. Four employees,
Alice, Bjorn, Charlotte and David, are able to perform different
parts of the process apart from Charlotte who cannot do process

3.

The table below shows the time it takes each person to complete

each part of the process, in minutes.

Process 1

Process 2

Process 3

Process 4

Alice
Bjorn

23
2%

18
2

12
17

18
2%

Charlotte
David

17
15

20
3

19

27

If each person is allocated one process, the minimum time total
for the manufacturing processis
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The standardised height values for Fawad and Vinh are identical

If Vinh's height was increased by 1 cm he would have a standardised height value that is the same distance
from the mean as Fawad's.

If Fawad's height was decreased by 1 cm he would have a standardised height value that is nearer to the
mean than Vinh's.

Vinh's standardised height value of -1.71 is further from the mean than Fawad's standardised height value of
1.86.

Fawad's standardised height value of 1.71 is further from the mean than Vinh's standardised height value of
_186.
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The cholesterol level for adult males is approximately normally distributed with a mean of 4.8
mmol/L and a standard deviation of 0.8 mmol/L.

A sample of 50 males was selected at random from this population.

The number of these males with a cholesterol level of more than 4.0 mmol/L would be
expected to be

Choose only ONE best answer.

O 32
O 2
QO so
Qe
O s
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015 Association




image16.png
Segmented bar charts would be an appropriate graphical tool to investigate the association
between the variable "support for tougher gun control” (1=yes, 2=not sure, 3=no) and the
variable

Choose only ONE best answer.

O "number of guns registered”

O "gender" (male=1, femals

, not stated=3)

O *age”inyears
O "price of a gun" in dollars

O "cost of a gun license” in dollars
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A pharmacist conducted a survey to determine the characteristics of people on prescription
medications. He classified people as school age, working age or retirement age. He then
classified their prescription mediication use as regular, occasional and seldom. The results of
his survey are in the percentaged two way frequency table given below:

The statement that supports the contention that medication use is associated with age group
is:
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Medication Age group
Use School Working Retirement
Regular 25% 224% 45.2%
Occasional 325% 329% 32.7%
Seldom 65.0% H4.7% 22.1%
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Only 25% of school age people are regular medication users and 65% seldom use medications

A similar percentage of school age, working age and retirement age people are occasional users of
medication.

The percentage of working age peaple who seldom use medications s similar to the percentage of
retirement age people who are regular users of medications.

Only 2.5% of school age people regularly use medications whereas 22.4% of working age people regularly
use medications and 45.2% of retirement age people regularly use medications.

23.1% more retirement age people are regular users of medications than seldom use medications.
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The scatterplot shows the female literacy rates (%) plotted against male literacy rates (%) for
the Indian states and territories from the 2011 census. A least squares line has been fitted to
the data.

There is a positive correlation (r=0.881) between female literacy rates (%) and male literacy
rates (%) for this data.

Which of the following is the most appropriate interpretation of this correlation coefficient?

Choose only ONE best answer.Immersive Reader

(O As male literacy rates increase, the female literacy rates tend to increase.

O On average, the female literacy rates for the country is 88% of the male literacy rates for the country.
(O There is a moderate, positive correlation between female literacy rates and male literacy rates.

O Increasing male literacy rates will cause higher female literacy rates.

(0 For everyincrease of 1% in the male iteracy rates therewillbe a increase of 0.88% in the female iteracy
rates.
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A study compared the child mortality rates against life expectancy in years for a large number
of countries in 2015. A least squares line was fitted to the data.

The equation of this least squares line is Child mortality = 335 - 4.27 x life expectancy.
The coefficient of determination is r*2 = 91.9%

The value of Pearson’s product moment correlation coefficient, r, for this data, correct to three
decimal places is

Choose only ONE best answer.

O -0959
O -0919
O o845
O o919
O 0959
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017 Least Squares Relation




image24.png
The scatterplot below shows the TV sets (number per 1000 people) and the doctors (number
per 1000 people) for a sample of 20 countries.

Aleast squares regression line has been drawn.
The least squares regression equation for this line is closest to:

Choose only ONE best answer.

O TVsets =30 + 120 x doctors
O Doctors = 30 + 120 TV sets
O TV sets = 30 + 150 x doctors
O Doctors = 30 + 150 TV sets

(O TVsets = 30 + 200 x doctors
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The following statistics apply to the maximum temperature in degrees and the average gas
usage in @ home in MJ per day during September, recorded over a number of years. The
distribution of maximum temperatures in September is normally distributed and the amount
of gas use can be predicted from the maximum temperature.

The equation of the least squares regression line for this relationship is closest to:

Choose only ONE best answer.

Mean Standard deviation
Maximum temperature in degrees 172 36
Gas use in MJ per day 34.1 84

Pearson’s Product Moment correlation coefficient
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gas use in M) = 582 - 1.4 x maximum temperature
gas use in M) = 10.0 - 1.4 x maximum temperature
gas use in M) = 582 + 1.4 x maximum temperature
maximum temperature = 58.2 - 1.4 x gas use in MJ

maximum temperature = 10.0 + 1.4 x gas use in M)
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The scatterplot below shows the TV sets (number per 1000 people) and the doctors (number
per 1000 people) for a sample of 20 countries.

The interpretation of the vertical axis intercept is:

Choose only ONE best answer.

(O When the number of doctors s zero, there are 30 TV sets per 1000 people.
(O When the number of TV sets s zero, there are 0 doctors per 1000 people.
(O There have to be at least 30 TV sets for there to be any doctors.

(O Doctors need at least 30 TV sets to operate.

O If there aren't any doctors, people will get their healthcare from the TV.
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Kahooﬂ 019 Prediction Residuals Statistics
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“The least squaresregressionline for the relationsip between the value of two diffrent aryptocurrencies,
Bicoin and Efhereum in SUS s shown beow:

Value (Bicoi) = - 265.43 + 3872 x Vake (Eersm)

When Bicon s worth $200, there was  reidual of $26.87 from the least squares egresio e
preicon. The vaue of ey at the tme would have been csest to

Choose anly ONE best answer.
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Ascatterplot is shown below of the relationship between the
weight of a number of teenagers and their age. A least squares
regression line has been drawn on the plot.

0

s .
o e
Zes 2 .
s b .
B : s

PR

“

Age inyears

The residual plot for this relationship would be:
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013 Univariate Data Quiz
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The relationship between TV sets (per 1000 people) and life

expectancy (in years) is non-linear for a sample of thirty
countries.

Asquared transformation is applied to the variable life
expectancyto linearise the scatterplot.
The least squares regression line equation determined is

TVsets = - 338 +0.0983 x life expectancy?

Australia has 502 TV sets per 1000 people.
When the regression equation is used to predict the life
expectancyvalue for Australia, the value obtained is closest to:
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021 Time Series




image40.png
The time series plot below shows the child mortality rate (in deaths per 1000 births) for ten
consecutive years during the late nineteenth century in Australia.

A 5-median smoothing technique is applied to this graph.
The smoothed value for year 5 is closest to:

Choose only ONE best answer.

QO 180
QO 182
QO 185
QO 188
O 192
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The table and graphs gives the global annual mean temperature (°C) for five year intervals
from 1950 to 2010.

If a four-mean smoothing with centering is used to smooth the time series plot above, correct

to three decimal places, the four-mean smoothed global annual mean temperature centered
on 1970 would be

Choose only ONE best answer.
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The seasonal index for the sales of cold drinks in a shop in July is 0.54.
To correct the July sales of cold drinks for seasonality, the actual sales should be:

Choose only ONE best answer.

O reduced by 46%
(O increased by 46%
O increased by 54%
O reduced by 85%

O increased by 85%
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025 Depreciation

1.A $32 000 car depreciates at 18% per annum on a reducing balance method. A recurrence
relation

that could represent the value of the car after n years is:
Choose only ONE best answer.

O V= 32000 Vn+1= 0.82 xVn

O Vo=32000Vn+1= 082 xVn

O Vo=32000Vn+1= 1.18 xVn

O V0= 32000 Vn+1= V- 5760

Ow

2 000 Vr

82xVn+1
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A survey was completed asking people about their electricity bill. The respondents classified

their electricity bill as “low, “average” or *high.
The type of data that will be collected is

Choose only ONE best answer.

O Discrete numerical
(O Continuous numerical
(O Nominal categorical
O Ordinal categorical

O Ordinal numerical
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2.A $7000 trailer depreciates by an equal amount of money each year until it reaches a book value
of zero after 5 years. Which of the following recurrence relations could represent the book value
of the trailer after n years?

(O DO = 7000 Dn +1 = Dn + 1400

(O DO =7000Dn +1

0.8Dn - 1400
( DO =7000Dn +1 = 1.2Dn
(O DO =7000Dn +1 = 0.8Dn

(O DO = 7000 Dn +1 = Dn - 1400
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3.Robbie buys a large industrial printing press for his business that costs §140 000.
He will depreciate the printing press using the unit cost method.
The printing press will depreciate by $4.60 for every 5 000 pages printed.

The number of pages that have been printed when the printing press has a book value of $71
000 is

Choose only ONE best answer.
Os

QO 15000

QO 75000

O 15000 000

O 75000000
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4. For insurance purposes, a new car was initially valued at $35 000.
Using the unit cost method, the value of the car was depreciated for each kilometre traveled.
At the start of 2016, the car was valued at $27 543.74.
At the start of 2017, the car was valued at $14 999.60

If the number of kilometres traveled in 2016 was 29687, the depreciation rate in c/km is closest
to

Choose only ONE best answer.
Qxn
Oax
O 2
O s
Qu
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027 Using Recurrence and Effective Rates

1. Consider the recurrence relation below:
A0= 15 000 An + 1= 1.003An - 45
This recurrence relation could be used to model

Choose only ONE best answer.

(O Areducing balance loan at 3.6% pa compounding monthly
(O An annuity investment at 3.6% pa compounding monthly
(O Areducing balance loan at 3% compounding annually

(O Aninterest only loan at 3.6% compounding monthly

(O An interest only loan at 3% compounding annually
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2.Which of the following recurrence relations will generate a sequence whose values decay
arithmetically?

Choose only ONE best answer.
(O B0 =6000, Bn+1 = Bn + 300

(O B0 = 6000, Bn+

= Bn-300
(O B0 = 6000, Bn+1 = 1.058n - 300
(O B0 =6000, Bn+1 = 1.058n

(O BO = 6000, Bn+

095Bn
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3. Antonia has $15 000 to invest. She is offered an interest rate of 6.5% per annum compounding
quarterly. Antonia asks for the same rate of interest to be compounded weely. The increase in
effective interest rate would be closest to

Choose only ONE best answer.
O 005%
O o016%
O 021%
O 666%
O 671%
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4.Brenton takes out a loan of $25 000 at an interest rate of 7.2% per annum compounding
monthly. Every month he makes a payment of $498 to repay the loan. Let Ln be the balance of
the loan after n months. A recurrence relationship that can be used to model the balance of this
loan is

Choose only ONE best answer.
O 10 =25000, Ln+1 = 1.006Ln - 498
O 10=25000, Ln+1 = 1.06Ln - 498
O 10=25000, Ln+1 = 1.072Ln - 498
O L0= 25000, Ln+1 = 1.006Ln + 498

(O L0 =25000, Ln+1 = 1.0006Ln — 498
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029 Amortisation
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The amortisation table for a reducing balance loan that is based on monthly compounds and
payments is shown below. The loan will be paid off over a five month period, with four equal
monthly payments and a smaller fifth payment which will reduce the balance to zero.

The interest rate per annum for this loan is:

Month Payment

$1850.00
$1850.00
$1850.00
$1850.00

N s WN=O

$52.00

$40.31
$28.55
$16.71

Interest Paid  Principal

Reduction
$1798.00
$1809.69
$1821.45
$1833.29

Loan
Balance

$8000.00
$6202.00
$4392.31
$2570.86
$ 737.57

N s 0.00
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O 065%
QO 65%
QO 78%
O 1.2%
O 13.0%
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With the increase in subscriber services for television, peaple have had the option of watching
television shows in different ways. 410 people were surveyed and asked their age and whether
they preferred to watch a TV series the traditional way, week by week, or whether they would
rather binge watch a series, over a short period of time. The results are shown below:

The variables “age group i years" and “preferred method of watching TV" are

Choose only ONE best answer.
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The amortisation table for a reducing balance loan that is based on monthly compounds and
payments is shown below. The loan will be paid off over a five month period, with four equal
monthly payments and a smaller fifth payment which will reduce the balance to zero.

The three missing entries for the fifth month would be:

Month Payment

$1850.00
$1850.00
$1850.00
$1850.00

N s WN = O

$52.00

$40.31
$28.55
$16.71

Interest Paid  Principal
Reduction

$1798.00
$1809.69
$1821.45
$1833.29

Loan
Balance
$8000.00
$6202.00
$4392.31
$2570.86
$ 737.57

D s 0.00
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O $742.36, 5479 and $737.57 respectively
(O $737.57, 5479 and $737.57 respectively
O $742.36, 5479 and §742.36 respectively
(O $737.57, 50.00 and §737.57 respectively

O $732.78, 5479 and $737.57 respectively
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Reduction
Payment Interest inloan Balance
number Payment charged balance of Loan

(n)  made($) ($) ) ($)

o 2500.00

1 22000 2188 19812 230188

2 22000 2014 19986 210202

3 22000 1839 20161 190041

4 22000 1663 20337 1697.04
5 22000 1485 20515 149189
6
7
8
9

22000 1305 20695 128494
22000 1124 20876 107618
22000 942 21058  865.60
22000 757 21243 65307

10 22000 572 21428 43889

1122000 384 21616 222.73

12 I S —

Craig takes out a loan of $2500 which is to be repaid in 12 months. Interest on this loan is
charged at 10.5% per annum interest compounding monthly. An amortisation table for the
duration of the 12 months loan, with some entries missing, is shown below:

Craig's twelfth and final payment will be more than $220.00, due to the fact that he was happy
to round his previous eleven repayments down to the nearest dollar.
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031 Interests Only & Perpetuities

1. Thomas takes out an interest only loan on his car.
He has borrowed an amount of $20 000 at 7.2% per annum compounding monthly.
The amount that Thomas will owe on his loan after two years would be

QO s20000
O s23088
QO s22984
QO s12849

O s22880
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2.Ed recently inherited $125 000 from his favourite Aunt. He invests the money in a perpetuity.
Which
of the following recurrence relations could represent the balance of his perpetuity, Bn , after n
years?

O B0 = 125000 Bn+1 = B - 8125

O B0 = 125 000 Bn+1 = 1062 x 5B - 8125
O B0 =125 000 Bn+1 = 1.054 x B - 7150
O B0 = 125000 Bn+1 = 1057 xBn - 7125

(O B0 = 125000 Bn+1 = 1.07 x Bn — 8500
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033 Finance Solve

1. Petra invests $30 000 in an account earning 3.4% per annum interest compounding monthly.
At the end of every month Petra deposits an additional $900 to the account.
The total interest Petra has earned at the end of three years is closest to
QO se7276
QO s37276
QO s4876
QO s4279

O 52963
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2. Luka takes out a loan of $10 000 to buy a car. He is charged 8.4% per annum interest
compounding monthly and he will pay the loan off entirely over a 24 month period with equal
monthly payments.

Which of the following statements about Luka’s loan is not true?

O Over the 24 month period Luka will pay a total of $898 interest correct to the nearest dollar
O After 12 months, Luka still owes $5209 correct to the nearest dollar on his loan

(O After 6 months Luka has paid $2345 correct to the nearest dollar off the balance of the loan
O The principal reduction during the third month is $392 correct to the nearest dollar

(O The balance of the loan at the end of 23 months would be $451 correct to the nearest dollar
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035 Finance Solver with changing conditions

1. Anwar has taken out a $17 000 reducing balance loan at 4.7% per annum compounding monthly
that is to be paid off over 24 months with equal monthly payments. After 18 months the interest
rate increases to 5.4% and he must make slightly higher monthly payments to ensure that the
loan is completed over the original 24 months. The total extra amount that Anwar needs to pay
over the course of the last six months of this loan is closest to:

QO s1.50
QO s450
O ss60
O sa.10
QO s1040
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2.1an takes out a reducing balance loan at 6.1% pa compounding monthly and he makes equal
monthly payments. Five years after he takes out the loan, lan owes $543 900 and nine years after
takes out the loan, the balance owed is reduced to $412 700. The original amount that lan
borrowed correct to three significant figures was

(O 5668000
(O 5669 000
O $670000
O 5708000

O 5591000
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3.Liam has a superannuation account with a current balance of $380 000. He wants to retire in four
years time, so every month he adds $2500 to the account after the account has interest added at
5.4% per annum compounding monthly. There are no fees applied during this period.

After four years Liam retires and the account continues to pay 5.4% per annum compounding
monthly, but Liam now takes $4500 per month out of the account as an income. The amount in
Liam's account after five years of retirement under these circumstances would be closest to

(O 5605000
O s1101000
O 5483000
O s122000

O $510000
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Kahoo‘t! 039 Matrices Arithmetic
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P, Q Rand S are matrices such that the calculation P x Q xR + S is defined.
Matrix P and matrix R are square, non-zero matrices for which P + R s not defined.

1IfSisa 5 x 2 matrix, then the order of Q must be
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Which matrix expression results in a matrix that contains the sum of the
numbers 3,8,6,4and 9 ?
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Kahoo‘t! 041 Matrices to represent numerical information
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Amy, Brian and Cary all service school kitchen equipment.
The matrix Tshows the time that it takes (in minutes) for each of
Amy (A), Brian (B)and Cary (C)to service a dishwasher (D), a hot
water system (H)and a gas stove (G).

4 B C

131415 |D
T=| 1517 12 |H
21 18 20 | G

The matrix N below displays the number of dishwashers, hot
water systems and gas stoves to be serviced in the Home
Economics rooms of three schools, Upton (U, Verdant (V)and
Wilton ().

D H G

2 2 |
N=l1138 |7/

2210 |w

Amatrix that displays the time that it would take each of Amy,
Brian and Cary, working alone, to service the dishwashers, hot
water systems and gas stoves in the Home Economics areas of
each of the three schools is
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70 70 418
71 71 436
100 100 3596
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(O Both ordinal categorical variables

(O Both nominal categorical variables

(O An ordinal categorical variable and a nominal categorical variable respectively
(O Anominal categorical variable and an ordinal categorical variable respectively

(O An ordinal categorical variable and a numerical variable respectively
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Kerry sells T-shirts customised with the names of musical
groups.

Last week, the T-shirt prices, in dollars, for the four groups Abyss
(A), Bugs (B), Chorax (C) and Dedlok (D) can be represented in
matrix P as shown below.

4 B C D
p=[ 44 50 356 40 ]

This week, Abyss and Chorax T-shirts are not selling, so Kerry will
discount their T-shirts by 25% and 30% respectively. However,
Bugs and Dedlok are in demand due to getting air-time on a local
radio station, so Kerry will mark up their T-shirts by 25% and
30% respectively.

The matrix multiplication that correctly calculates the T-shirt
prices this week is
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Kahoot! 043 Binary permutation communication and dominance mat...
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If matrix K = and matrix P =

hN O
oo o

]

1

- o o

0

oo o ~

oo = o

then the word formed by the matrix product P x K is
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Kerri (K), Leanne (L), Maree (M) and Noni (N) are four key
managers in a business who should be in communication with
each other all the time. Unfortunately, personality clashes have
meant that some of these managers will not directly
communicate with some of their colleagues - either sending or
receiving messages from their colleague.
The communication matrix below represents this current
ituation.
The elements in the matrix are such that:

“1” indicates that direct communication from one person
to another is possible

“0” indicates that direct communication is not possible.

K LMN

K 0101
from 1000
M 0001

N 1110

The diagram that correctly represents this matrix is:
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A graph is shown below of the logarithm of annual income for a number of small companies
of various sizes.

For this data the modal income is between:

Choose only ONE best answer.

(O $100 and $1000

(O $1000and $10 000

O 510000 and $100 000
(O $100000 and $1000 000

(O $1000000 and $10 000 000
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Kahoot! 045 Simultaneous equations and long term transition
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Julia needs to buy some stationery for school.

Three pens and four exercise books will cost $20.65

Four pens and three exercise books will cost 20.30

Let pbe the cost of a pen.

Let bbe the cost of an exercise book.

Which of the following matrix equations could Julia solve to
obtain a matrix that contains the price of a pen and the price of
an exercise book?
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Consider the matrix recurrence relation below.

05 02 @
where T=| 03 06 P
02 02 R

Matrix Tis a regular transition matrix.
2
32 | which one of the following is true?
39

Given the above and that S,
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Boulevard Ice-Cream is facing fierce competition from other brands in the market-place.
The transifion matri that describes sales choices at the momment s:
B o

el A

025 065 | O
)
The sales marix, representing the percentage share of the market. is S, 5

Based on the information above, in the long term
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Boulevard’s market share will
increase by approximately 7%.

Boulevard’s market share will be
unchanged.




